Lecture 21

Exercise 1: Two users on the same client connect to the same
web server. Which of the addresses and ports are the same?
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Exercise 2: What are the minimum and maximum values for
the UDP length field?
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Exercise 3: The most recently received TCP packet for a
connection had an Acknowledgement Number value of 1000
and a Window value of 64. Assuming 1024 bytes are ready
to be sent, what will be the value of Sequence Number in the
next packet transmitted for that connection? What will be the
length of the IP packet?
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Exercise 4: What will happen if a host responds to an initial
SYN frame by sending back a frame with only SYN set?
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Exercise 5: How can a host reduce the rate at which data is
sent to it on a TCP connection?

—ftwe  moeximume emovat of dova_ T
C3a e  Sent back 1i1s se \3

e W indow Valve n oo-lgoi/ta 'Frames,

- Io-:) s-e_ﬂ"\/t& Mmis Y « sma\l  valve
H/\ (< MR Cevver C >N " '\'\'\N'H |e " \\"\/Le,

Seade).



